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CIHESS.

CIHESS.

(7o Corvespondents.)

A SunscRisEr.~—Our tale, the ¢ Fatas, MaTe,” which ap-
peared in the last No., is not origiual,  Your solutions to
the Problems are correct, Ay the one published in the
tale “IHow & Wuild was won;” it is not dificult,

F. W. S, and others.—We give the celebrated Indian
Problem in the present No.  In our next, if possible, we
shall give a position by a German player, which i3 consid-
ered by many fully eyual, i€ nut®supo-ior, to the Indian
Problem,

C. J. 1L, Hamilton.~Your problem is defective, as mate
may be given in three moves, I'ry again,

Solutions to Problems in FaTal MATE by a Subseriber,
J. B, Amy, and J. IL R.,are correct.

|
|

Solutio s to Problem No.17by J. B, J. IL IR, and Olzio’
are correct.
Solutions to Enigmasin our last by Evans, Amy, J. Il R,
and G. D., ave correct.
SOLUTIONS TO PROBLEMS IN FATAL MATE.
No. 1. Page 318.
White. Black,
. Q to K 5th {ch). P takes Q.
2. BtoK Rad, Btakes Pat K Kt 5th.
3. P takes B, Anything.
4. K Kt 1* mates.
No. 1L Page 521
Whate. RBlacl:.

KtoQBsq.
Q interpuses.
Q interposes.
K takes B,

1. Qto Q1L Hh (eh)
2. (} to KX It 4th (¢h).
3.0 to K Ktsth(ch).
4. Q P’ cheeks.
O, Q mutes.
SOLUTION TO PROBLEM No. XVIL

White. Dlack.
. Bto Q1 5th. I to his 4th (best).
. K to K Kt 5th, P moves.
. R toQ Bith. Anything.

I~

e

:l‘. R mates.
PROBLEM No. XVIIL
The Indian Problem.
BLACK.
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WIHTE.

Wkite to play and matc in four moves,

ENiua,
No. 51. By M. D Orville,
Winre.—Kat Q Kt sq; Rat QR 7th; Bat
Q B 4th; Ktsat K Kt 8th, and K Gth,
Brack.—K at hissq; Q at her 7th; RatQ
R 7th; KtsatQ4th,and QB2d; P arK B 24.
White to play and mate in three moves.

CHESS IN ENGLAXD.

A game in which Mr, Staunton gives his Q's
Kt to Mr. C. Kenny, an amateur of the London
Chess Club:—

(Remove Black's Q's Kt from the board. )

Black. W hite.
1. P to K 4th. 1* to K 4th.

2, KKt to B 8d. Q Kt to B 3d.
3. KBtoQB4th. K BtoQDB4th,
4. P to Q Kt 4th. B takes Kt P.
5. Pto QB3d. B to Q R 4th.
6. Castles. B to Q Kt 3d.
7. P to Q dth. P takes P.
8. P takes P. P to Q3d.
9. Qtoher Kt 3d., Qto K 2d.
10. P to K 6th. Kt to Q R 4th.
11. Q to R 4th (ch). BtoQ2d.
12, Q to her B 2d. Kt takes B.
13. Q takes Kt. P takes P.
14. Kt takes P, Q to K 3d.
15. Q to her 3d. P to Q R 3d (a).
16. KR to K sq. Castles.

K Kt to B 3d.
Q to her 4th.
Bto QR 24,
Q to her B 3d.

Q B to Kt 2d.
. Kt to Q B 4th.
. QR to Q B sq ().
. KR t&K 5th.

21. P to Q 6th. Q to her R 5th.

22, Kt to Q 6th (ch). K to Kt sq.

23, Kttakes KB P, B takes K BP (ch).
24. K takes B. K¢ to his 5th (ch).
25. K to Kt sq. Kt takes R. :
26. B takes Kt. B to Q Kt 4th.

27. Q to K 3d. R takes Q I’

28. BtakesP (ch).  KtoRsq.

29. Kt takes K R. R to Q 8th (ch).
30. R takes R. - Q takes R (ch).

31. Kto B 2d.
32. K to Kt 3d.
33. P to QR 4th.
34. Q to K B 4th (d).
Saving the picce and winning the game.
Noes.

(@) With the view to play the bishop to Kt 4th, and
gain tho “exchange.” :

(¥) Threatening to win bsth Qand B.

(¢) Black threw forward this pawn, foresceing that if
his opponent took it ho would be cnabled to save the *
threatenced Kt, or gain an equivalent, and that, if White
refused the pawn, it would, when pushed one squaremors, .
have served to support tho bishop at Q Kt 6th. ;

(4) Had White changed Queens and played B to QKt
Gth, to prevent the escape of the Kt, the following serics
of moves would probably have cccurred :— .

35, Q takes Q.

Q to K B 8th (ch).
Qto K B sq.
B takes P (c).

36. K takes Q. Bto Q Kt Gth.
47. B to Q Kt 6th. K to Kt sq.
3S. K to his 5th. KtoBsq.

39. K to Q 6th, winning casily.




